








equation of the plane is
(h/a1) x + (k/a2) y+ (l/a3) z =1

(or x /(a1/h) + y /(a2/k)+ z /(a3/l) =1
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(Extinction)



7)  

 

Here I am using Mathematica to plot the function 
q

2



SinqaN2^2Sinqa2^2 for N30... see figure 3.3 in textbook
In[39]:=

Define the function with N30 and a1a  1; n  30; functionq_ : Sinq a n2^2Sinq a2^2;

note that the symbole N can not be used as it is preserved symbole in mathematica
Plot the function over a suitable range of q
Plotfunctionq, q, 0, 10 , Exclude singularitiesPlotRange  0, 1000, Focus on peaks
AxesLabel  "\\\
StyleBox\"q\",\nFontSize24\", "\\\
StyleBox\"\",\nFontSize24\\\\
StyleBoxUnderscriptBox
RowBox\" \", \"\", \"q\",\nFontSize24\\\\

StyleBox\" \",\nFontSize24\\\\
StyleBoxSuperscriptBox\"\", \"2\",\nFontSize24\", Label axesPlotLabel  " N30",
PlotPoints  100, LabelStyle  DirectiveBlack, Bold, 16, Smooth the curveImageSize  800
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